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BA-Z3H-0A(3H) - IRAL - BHES Oi &4 JEA Hus2
NS Al 9,903,008 9,123,008 780,000
= 1,000,000 1,000,000 0
Xl 4,165,000 4,165,000 0
= 4,738,008 3,958,008 780,000
XHEAS ZENL(SELXENL/XSLTAI) 9,840,000 9,060,000 780,000
= 1,000,000 1,000,000 0
X 4,165,000 4,165,000 0
== 4,675,000 3,895,000 780,000
ANAZEpe 9,840,000 9,060,000 780,000
= 1,000,000 1,000,000 0
X 4,165,000 4,165,000 0
=S 4,675,000 3,895,000 780,000
HotD Helst TAEE =4 3,720,000 2,940,000 780,000
403 XX EtH S =01 A 3,720,000 2,940,000 780,000
01 tXIEMAE2EX 3,720,000 2,940,000 780,000
OZAAHEZZ MHE & HH 3,470,000 2,690,000 780,000
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